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Drift space simulation - Transverse diffusion

• All values are different. 

• The difference appears when dealing with the magnetic field.
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Drift space simulation - Longitudinal diffusion

• Since the longitudinal direction are independent of the magnetic field, 
differences are not that large compared to the lateral dispersion case.
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GEM dimensions
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Hole pitch 140 µm
Outer diameter 75 µm
Inner diameter 35 µm

Kapton thickness 50 µm
Copper thickness 5 µm



Electric field in GEM hole
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GEM simulation - Gain
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Transparency: 60.82 %

Mean: 4.09
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GEM simulation - diffusion
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GEM simluation - Triple GEM
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Mean: 500.72
RMS: 1060.40
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Parameter 120 V/cm 1500 V/cm
�T (µm/

p
cm) 206.91 539.91

�L (µm/
p
cm) 372.03 223.13

vd (cm/µs) 5.544 2.349


